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About the Lunar Eclipse, shape of the sky i1s circle and the Earth i1s there 1n the center. For example, what the sky wraps around
the Earth 1s like the egg. Sun, Moon, Mercury, Venus, Mars, Jupiter and Saturn are around the Earth. When the sun move an

angle, the moon move about an angle of 13
15 days later, I measured the angle of the sun and the moon.They were an angle of 182° and just the opposite.

They are facing.It 1s arranged in the order of moon, earth, sun.

Sunlight cannot shine the moon.So the moon became a lunar eclipse.

When the moon goes out of shadow of the earth the sun shine the moon again.

When they are 1n a straight line, the moon became a total lunar eclipse.Lunar eclipse always happens 15 days.The lunar eclipse
happens the spot of the eclipse and eclipse crossing.

The full moon can be seen for three days 14 to 16.During the time 1t will be a total eclipse. If it goes past the line of an angle of about
13, It doesn’t go on 1ts right way and i1t can’t go into the Earth shadow. Appearance of the solar eclipse 1s different by the observation
location to. At the time of eclipse of the moon, the shape of the earth completely cover the moon, so appearance of the moon eclipse
1s same b1 the observation location to.

The eclipse of the moon has five stage. First, it begins to be covered by the shape of the earth. Second, 1t 1s completely covered by the
shape of the earth. Third, it 1s covered in maximum. Forth, a part of the moon begins to shine. Fifth, 1its shape returns to original
form. If 1t’s the case that the solar calendar of the eclipse of the moon, at first the eclipse of the moon happens in the northeast, and it
overlaps in the northwest. On the other hand if 1it’s the case that the lunar calendar of the moon, at first the lunar calendar of the
moon happens in the southeast, and 1t overlaps 1in the southwest. More than 80% of the whole happens in the east and 1t overlaps in
the west. Like others, 1t can be spoken logically.

The farer the moon goes away from the earth, the sun farer from the earth.

A diameter of the sun 1s long. Therefore a diameter of the sun 1s as large as a diameter of the moon seen from the earth, So the earth
is smaller than the sun. e« FHE
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DI 22 HWTCHiERZ P E LEFHEDOREREZ R L, T0OH & Until modern translation, which had progressed smoothly, the
W IZOFMETONERZRZXO L 215277, ZORETIIHERE K5 description of figure in English translation and the space graphic
ERAEZEHEICARBDENPBEVIRT N T WD, Z ORI EE T way is very difficult, we've struggling. I thought Application of
BEEIZHECZ 20D, KBS HOEL TS ABDO X 1= XA E 5L English and mathematics force was necessary.
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At first, it shows space relationship cantered on the earth by using a @?‘*@E‘ Our ImpreSSIOn

metaphor. The positional relationship between this issue we gave as TOEBZBLTHEDODA D= RALIZOWTCTHATE T TR, —
shown. The Kikubuntousyu is not come out clearly problem, it is MO BREER., R, MWFE~DODEBT H L DOREIZHAH I L
possible to read the mechanism of lunar eclipse from to how the sun I TCEFE LT,

and moon.

Not only know about the lunar eclipse mechanism through this
activity, translated into English, we were able to know very much of
It to be converted to modern translation, translated into English and
mathematics from one.




